Answers
Monday: 
Think Together
1) c) The perimeter of the gardens are the same, but the areas and the lengths and widths of the sides are all different. 
Shape C: 
a) Length 4m, width 6m
b) area 24m2


Shape A: 
a) length 9m, width 1m
b) area 9m2

Shape B: 
a) length 5m, width 5m
b) area 25m2

2)  Compare A and B: The perimeters are the same, but the areas are different. 

Compare C and D:   The perimeters are the same but the areas are different. 
D:
Area = 10cm2
Perimeter = 14cm
C:
Area = 12cm2
Perimeter = 14cm
B:
Area = 13cm2
Perimeter = 16cm
A:
Area = 15cm2
Perimeter = 16cm
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Tuesday 
Think Together

1)  
a) 12cm2
b) 12.5cm2
2)  
a) 3cm2
b) 3cm2


Worksheet
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Wednesday
Think Together

1)
a) Area of rectangle = 3cm x 6cm = 18cm2
     Area of triangle = 18cm ÷ 2 = 9cm2
b) Area of rectangle = 2cm x 2cm = 4cm2
        Area of triangle = 4cm2 ÷ 2 = 2cm2
c)  Area of rectangle = 4cm x 11cm = 44cm2
     Area of triangle = 44cm2 ÷ 2 = 22cm2

2)
a) 8cm2
b) 5cm2
c) 7cm2
d) 22cm2
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Thursday
Think Together

1)  
a) 8 x 2 ÷ 2 
       8cm2
b) 3 x 6 ÷ 2
9cm2
c) 4 x 11 ÷ 2 
22cm2

Worksheet
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Friday
Think Together

1)  
a)  Area of parallelogram A
i) Area of the parallelogram = area of the rectangle with 
Width 6cm and length 5cm
6cm x 5cm = 30cm2
Area = 30cm2
ii) Area = base x height
Area = 6cm x 5cm 
Area = 30cm2
b)  Area of parallelogram B
i) Area = 4cm x 2cm
Area = 8cm2
ii) Area = 4cm x 2cm
Area = 8cm2
c) Area of parallelogram C
i) Area = 3cm x 2cm
Area = 6cm2
ii) Area = 3cm x 2cm
Area = 6cm2
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5. A.7cm, 70mm, 98cm? B. 16cm, 140mm, 308cm?

6. Various possible answers, for example:

The total perimeter could be 44m as shown below. This would result in an area of 109m?.
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6. Various answers, for example:
Jonah is correct. If half the area of the rectangle is used fo create a right-angled friangle,
then the area of that friangle would be écm?, as shown below.
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4. A. 36cm?; B. 27cm?; C. 28cm?

5. A. 4cm; B. 60mm; C. 120mm

6. No, Aurora is not correct because the dimensions could be ém x 10m. Both sides are

not greater than 8m.
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4. A. 24cm?; B. 28cm?; C. 28cm?2; D. 12cm?

5.AandB

6. No, Arthur is incorrect. The shape is split into 3 friangles, and 2 of them are identical. As
we know that one of the identical triangles measures 9cm x 5cm, its area is 22.5cm?2.
When the two identical triangles are put together, their combined area is 45cm?2. A
sensible estimate for the third triangle is approximately 9cm x 2cm, which gives an area
of 9cm?, meaning that the area of the composite shape is more than 50cm?.
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4. AandB

5.A.3;B.1;C. 4

6. Various answers, for example:

A. Base = 11cm, Perpendicular height = 5cm; B. Base = 11cm, Perpendicular height =
2.5cm; C. Base = 11cm, Perpendicular height = 2.5cm:; This would be correct because the
measurements of A would equal an area of 55cm?2 (which is an odd number), and the
measurements of B and C would equal an area of 27.5cm? (which is half the area of A
and also identical to one another).




